Name

ACP Pre-Calculus Summer Packet (to be handed in the first day of school)

*This Review is for students entering ACP Pre-Calculus

*This assignment covers Chapter P in the Text. The text is on line with the assignment.
*We begin with Chapter 1 in September.

*You will be tested on Chapter P during the first week of school.

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Evaluate the algebraic expression for the given value or values of the variable(s).

N5x+3 x=3 1
A) 30 B) 12 C)8 D) 18
2)10x2+4y;, x=7andy=3 2)
A) 502 B) 1590 C) 118 D) 4912
Solve.
3) The formula C = %(F - 32) expresses the relationship between Fahrenheit temperature, F, and 3
Celsius temperature, C. Use the formula to convert 59°F to its equivalent temperature on the
Celsius scale.
A) 51°C B) 49°C C) 15°C D) 3°C

Find the intersection of the two sets.

4) {2,7,5,9)n {5, 6,2} 4)
A) (2} B) {2, 5} C)o D) {2,5,9.7. 6}
Find the union of the two sets.
5 {1,1Mu{1.4,9) 5)
A {4,9,11) B) @ C) {1} D) {1,4,9,11}

Determine whether the statement is true or false.

6)7>20 6)
A) True B) False

7)-14=18 7
A) False B) True

Rewrite the expression without absolute value bars.

8) |-6] 8)
A) 12 B) O 0) 6 D) -6
9N (1-2} - |-4| 9

A)2 B) -2 C)6 D) -6



Express the distance between the given numbers using absolute value. Then find the distance by evaluating the absolute
value expression.

10) 28 and 98 10)
A) |28-98| =70 B) - |28+ 98| =-126
C) -|98-28| =-70 D) |28 + 98] = 126

Simplify the algebraic expression.
11) -4(9r+ 7) + 5(4r + 5) 11)
A) -16r+7 B) -16r-3 C) r+3 D) -64r

Write the algebraic expression without parentheses.
12) -(8x - 2) 12)
A) -8x+2 B) 16x C) 8x -2 D) -8x - 2

Evaluate the exponential expression.

13)23.4 13)

A) 512 B) 24 C) 12 D) 32
14) 100 14)

A) -1 B) 1 C) 0 D) 10 I
15) (-5)3 15)

A) 125 B) 15 C) -125 D) -15
16) -5-4 16)

1 1
A) 55 B) -625 C) 625 D) - %

Simplify the exponential expression.

17) x-x! 17)
A) 2x8 B) 2x/ C) x’/ D) x8
18) x6y0 18)
A) x6 B) 0 01 D) —
6
19) (x-3)-3 19)
A) - B) - Q) -xb D) x?
X6 X9
-7
20) X~ 20)
x3 —r——
1 1 1
A) x10 B) —— C) — D) —
) ) <21 ) <10 ) 4



21) (2x)3
A) 8x3 B) 8x C) 6x

22) (-4x4y-9)2x-1y)
-8x5 -8x3

A) B) C) -8x3yb
yb v

Write the number in decimal notation without the use of exponents.

23) 9 x 109

A) 900,000 B) 9,000,000 C) 0.00009
24) 7.26 x 10-4

A) 0.00726 B) 0.000726 C) -726,000

Write the number in scientific notation.
25) 43,012

A) 43012 x 105 C) 4.3012 x 104

B) 4.3012 x 10-4
26) 0.000815

A) 8.15 x 10-3 B) 8.15 x 10-5 C) 8.15x 1074
Perform the indicated computation. Write the answer in scientific notation.
27) (6 x 108)(4.2 x 10%)
A) 2.52 x 1032

B) 252 x 1012 C) 25.2x 1013

Evaluate the expression or indicate that the root is not a real number.

28) A[81
1
— B)9
A) 81 )
C) 6561 D) Not a real number
29) -\}16 +9
A) 25 B) Af7 C)7
30) A/-196
A) 14 B) 38,416
C) 11—:6 D) Not a real number

31) \[144 + [25
A) 169 B) 17 C) 13

D) 6x3

_2x3

D) 0.000009

D) 0.0000726

D) 4.3012 x 101

D) 8.15 x 104

D) 2.52 x 1013

D)5

D) Af119

21)

22)

23)

24)

25)

26)

27

28)

29)

30)

31)



32) 87

A) 4096

C)8

Use the product rule to simplify the expression.

33) /63
A) 21 B) 743

34) '\/294x2
A) 6x24[7 B) 7|x|f6

Use the quotient rule to simplify the expression.

1

35) 55

o=

A) 5 B)

S

A0 B)

A) 4|x}[5 B) 5x2

Add or subtract terms whenever possible.
38) 645 - 445
A) -24[10 B) 1045

39) 74/2 + 9/8
A) 1142 B) 1642

40) A[25 + A[48 + A[49 + A[300
A) A[48 + Af300 + 12
C) 11643 + 12

D) Not a real number

o7

C) 7Af6x

%%

02

C) 4|x]

0 A5
C) 2542

B) 1443+ 12
D) 14«/5»\/%»\/2‘3

32)

33)
D) 34/7

34)
D) 294x

35)
D) 25

36)
D)%

37)

2

D) %

38)
D) /10

39)
D) -254/2

40)



Rationalize the denominator.

M) lCJ;’O
py 1007 B) 59

7

42) ——

NET]
A1+ B)%}E

43) —2
5 /10

A) 20 - 4:{‘!0 B) 20 + 4:{10
15 15

Q) ‘IDQE?

C) 11

o ..

5 J10

Evaluate the radical expressions or indicate that the root is not a real number.

1) YD
A) 27
C) -3

15) N6
A) 16
C) -2

46) \/3 (-2)3
A) -2
Q)2

Evaluate the expression without using a calculator.

47) 64172

A) 32 B) 8
48) 84/3

A) 128 B) 32

Simplify by reducing the index of the radical.

19) b
A X B) \x2

Is the algebraic expression a polynomial? If it is, write the polynomial in standard form.

50) 8x - 3 + 6x2
A) Yes; 6x2 + 8x - 3

B) 3
D) not a real number

B) 2
D) not a real number

B) -8
D) not a real number

C) 16

C) 64

0 N

B) No

D) 10~/7

D) 20 % 541{10

D) 4

D) 16

41)

12)

43)

44)

45)

46)

47)

48)

49)

50)



Find the degree of the polynomial.

51) -6x + 2x8 + 5x7 - 24
A) degree 2

B) degree 7

C) degree 8

Perform the indicated operations. Write the resulting polynomial in standard form.
52) (7x5 + 2x4 + 2x) + (6x3 - 5x4 - Bx)

A) 7x10

B) 13x1 - 3x4 - 3x

53) (6x6 + 4x5 + 9) - (3x6 - 10x5 - 12)

A) 3x6 + 14x5 + 21

Find the product.
54) (x -~ 4)(x2 + 4x + 16)
A) x3 + 8x2 + 8x - 64
C)x3-8x2-8x-64

55) (5% - 1)(x2 - 3x + 1)
A) 5x3 + 16x2 - 8x + 1
C) 5x3 - 16x2 + 8x - 1

56) (3x + 1)(x - 10)
A) 3x2 - 29x - 10

57) (6x2 + 5)(5x2 - 1)
A) 30x4 + 19x2 + 19
C)30x4+19x2-5

58) (x + 6)(x - 6)
A) x2 -12

59) (1+x3)(1 - x3)
A)2- xb

60) (8x + 11)2
A) 64x2 + 176x + 121
C) 64x2 + 121

61) (7 - 5)2
A) 7x2 + 25

62) (x - 3y)(x - 9y)
A) x2 - 12xy - 12y2
C) x - 12xy + 27y

B) 3x0 + 14x5 - 3

B) x2 - 29x - 30

B) x2 + 12x - 36

B)1-x9

B) 7x2 - 70x + 25

C) 13x - 3x5 - 3x4

C)3xb+7x5-3

B) x3 - 64
D) x3 + 64

B) 5x3 - 15x2 + 5x + 1
D) 5x3 - 14x2 + 2x - 1

C) x2 - 10x - 29

B) 11x4 + 19x2 - 5
D) 30x2 + 19x - 5

C) x2 - 12x - 36

C)1-x6

B) 8x2 + 121
D) 8x2 + 176x + 121

C) 49x2 - 70x + 25

B) x2 - 15xy + 27y2
D) x2 - 12xy + 27y2

D) degree 4

D) 8x5 + 2x4 - 3x

D) 38x11

D) 3xZ - 30x - 10

D) x2 - 36

D) 2 - x9

D) 49x2 + 25

51)

52)

53)

54)

55)

56)

57)

58)

59)

60)

61)

62)



63) (13x + 3y)(13x - 3y) 63)
A) 13x2 - 3y2 B) 169x2 + 78xy - 9y?2
C) 169x2 - 78xy - 9y2 D) 169x2 - 9y2

Factor out the greatest common factor.

64) 2x2 + 12x 64)
A) 2(x2 + 6x) B) 2x(X + 6X) C) x(2x + 12) D) 2x(X + 6)

65) X(X + 9) + 5(x +9) 65)
A) (x2 + 9x) + (5x + 45) B) (x +9)(x + 5)
C) 5x(x +9) D) 9x(x + 5)

Factor by grouping. Assume any variable exponents represent whole numbers.
66) x3 - 4x2 - 5x + 20 66)
A) (x + 4)(x2 + 5) B) (x - 4)(x - 5) C) (x - 4)(x2 - 5) D) (x - 5)(xZ - 4)

Factor the trinomial, or state that the trinomial is prime.

67) x2 - 3x - 18 67)
A) (x-3)x+1) B) (x + 3)(x - 6) C) (x - 3)(x - 6) D) prime

68) 3x2 - Tx + 20 68)
A) 3x-4)(x+5) B) (3x + 5){(x - 4) C) 3x-5(x+4) D) prime

69) 9x2 - 6x - 8 69)
A) Ox+2)(x - 4) B) 3x+2)(3x - 4) C) Bx-2)(3x + 4) D) prime

Factor the difference of two squares.

70) x2 - 121 70)
A) (x+11)(x - 11) B) (x - 11)2 C) (x + 11)2 D) prime

71) 49x2 - 9 71)
A) (7x - 3)2 B) (7x + 3)2 C) (7x + 3)(7x - 3) D) prime

72) x4 - 256 72)
A) (x2 + 16)(x + 4)(x - 4) B) (xZ - 16)(x2 - 16)
C) (x2 + 16)(x2 + 16) D) prime

Factor the perfect square trinomial.
73) x2 + 16X + 64 73)
A) (x - 8)2 B) (x + 8)2 C) (x + 8)(x - 8) D) prime



Factor using the formula for the sum or difference of two cubes.

74)x3-8 74)
A) (x+8)(x2-1) B) (X - 2)(x2 + 2x + 4)
C) (x +2)(x2 - 2x + 4) D) prime

75) x3 + 27 75)
A) (x +3)(x2 + 9) B) (x - 3)(x2+ 3x +9)
C) (x+3)(x2 - 3x+9) D) prime

Find all numbers that must be excluded from the domain of the rational expression.

6
76) = 76)
A) x=-2 B)x=0 C)x=-6 D) x=2
) X-8 ra))
x2 - 64 -
A) X 28, X=-8 B) x = 64 C)xz% D) x=8

Simplify the rational expression. Find all numbers that must be excluded from the domain of the simplified rational
expression.

78)-L 78)
6x2 + 16x + 10 E—
2% + 2 5 2x 5
A—12 xe-— xz-1 B) KE - —
6x2 + 16x + 10 3 3x+5 3
2% + 3 16 1 5
O%+16"*"7 D) G5 X=X
Multiply or divide as indicated.
6x 14x +7
) Tx6 T 6 W e
7 X 7x 7X
A)Z B)E C)T D)'E
2 2
SO)X +9x+ 14 x£+10x+16 80)
x2+4x+4 x2+15%+56 —_—
1 X+7 X+ 2
A)x+8 Bl C)X+2 D)X+8
12x-12  4x-4
e 81)
3(12x - 12) 1 48(x - 1)2
A9 B —ix-1 3 D) =353



Add or subtract as indicated.

2-7x 10
+

X-5 X-5

82)

A)x-2 B) x+ 2 C)x-5

Simplify the complex rational expression.

X
T 1
83) a—
A) — B) + C) -1
x-1
Solve the linear equation.
84) 7x - 8 =55
A {9} B) {15} C) {56}

85) 19t-3=9t+5
19 4
B e e

86) 4(x +5) + 13 =5(x + 4) + 14

D) X-5

D) x-1

D) {60}

“f)

D) {17}

D) {63}

{4

A) (12} B) {7} 0 {-1}
X _X
87) 7 = 3 +8
A) {252} B) (56} C) {72}
X+4 X-4
88) 7" 1= 5
[5
A) 13 B) {- 1> 0 (- 5»
First, write the value or values of the variable that make a denominator zero. Then solve the equation.
7 3
89) 7 = E +22
51
A0, 2; {-55} B) none; {2} C) 0; {4}

Solve the formula for the specified variable.

90) A = %bh for h

2A Ab A
Ah==p Bh= Oh=75

onf)

Dh=3

x2 - 7%+ 10

82)

83)

84)

85)

86)

87)

88)

89)

90)



9
91) F= EC +32 forC 9

9. __5 _F-3 54
A)C—S(F 32) B)C—'___32 C)C= 9 D)C—9(F 32)

Solve the absolute value equation or indicate that the equation has no solution.

92) |x-2] -5= 92)
A) {-5,9} B) @ 09 D) {-9,5}

93) [x+1)=2 93)
A o B {-1, } C) (1} D) {-3.1}

Solve the equation by factoring,

94) x2 = x + 20 94)
A) {-4, -5) B) {-4,5) 0) 1,20} D) {4, 5}

Solve the quadratic equation by the square root property.
95) 2x2 = 50 95)
A) (0} B) {-2,2} C) {-54/2,54/2} D) {-5.5)

96) (2x - 5)2 = 121 96)
A) {-6, 16} B) {-16, 6} C) {-3.8} D) {-8, 3}

Solve the quadratic equation using the quadratic formula.

97) x2 + 3x - 108 =0 97)
A {-12,1) B) {12, 9} 0) {-9.12} D) {-12,9}
98) 2x2 + 12x + 5=0 98)
~6-4J26 -6+4J26 -12-4J26 -12+4[26
A 4 4 B) 2 : 2
{-6-4'275 -6+J27>} {-6-% —bu[%}
C) . D) .
2 2 2 2
Solve the radical equation, and check all proposed solutions.
99 A/x+3=6 99)
A) {81} B) {33} C) 39} D) {36}
100) \/x-3=x-5 100)
A) 4,7} B) {4} 0 {-7 D) (7}

10



Express the interval in set-builder notation and graph the interval on a number line.

101) (-8, 8]

-10.9-8 7=6=5=4=3=2 10123 4 5 6-7 8910
A) {x| x =8}

.......

st
109-8-7-6-5-4-3-2=10 12345678 910

C) {x|-8<x=<8)

L

i 3.21012345678910

102) [-1,9]

R e o o e i i e
-109-8-7-6-5-4-3-2-1012345678910
A {x| -1=x<9)

AL e
-109.8-7-6-5-4-3-2-10 123 4 56 78 910
C) {x] -1=x<9}

B e e e e e e R T
-109-8-7-6-5-4-3-2.101 2345678910

101)
B) {x| -8<x=<8}
Lt B SN B e S
-109-8-7-6-5.4-3-2-10 12345678910
D) {x] -8 < x< 8}
B i e >
109-8.7.654.321012345678910
102)

B) {x] -1<x<9}

[109-8-7-6-5-4-3-210123 45678
D) {x]-1<x=<9}

109-87-6543-21012345678910

Solve the linear inequality. Other than @, use interval notation to express the solution set and graph the solution set on a

number line.
103) 4x + 1 < 37

-10.9-8.76-54-3.2-10 1 23 45678910
A) ('°°: 9)

"109-8-7-6-54-32-101234 56789
C) ('“19]

s
b A LA AL A e i e e b S e e o

109~B~7-6-5-4A3-2-l 0123456785910

11

103)

B) [9. °°)

L109-8-7-6-5-4-3-2-10 1 23 4 56 7 8 9 1(
D) (9, )

-109-8-7-6-5-4-321012345678



Solve the compound inequality. Other than @, use interval notation to express the solution set and graph the solution set
on a number line.

104) 8 <2x <10 104)

20 1L 2 3 4 5 6 7 8 9 101 12
A) (-2, 4) u[5, =)

pant 1 L
= -

a0 1 2 3
B) ('°°‘4] N (51 °°)

B e e .
2 - 01 2 3 4 3 6 7 8 9 101012
C) 4,5]
2101 2 3 5 6 7 8 9 10 11 12
D) [4,5)
e T B — —
20 1 2 3 4 6 7 8 9 10 11 12
105) -23<-3x-2<-8 105)
A) (-7,-2)
e
100 9 8 I 6 5 4 3 2 4 0 1 2
B) 2.7)
B e e e s S E
2101 2 3 4 5698 910010
C) [2.7]
—————+—F ———
2.0 1 2 3 4 3 7 8 9 10 11
D) [-7,-2]

L 1 i I = I n L I i i i L ] L%
N 5 | i L = - ¥ o] L W

A1-10 9 -8B 7 6 5 4 3 2 4 0 1 2

e

12



Solve the absolute value inequality. Other than @, use interval notation to express the solution set and graph the solution
set on a number line.

106) |x- 7] <0 106)

P

(1.7
yd L L i i L l s A 1 L L L i e s - A 1 L \ 1 L 1 L [ LS
AT LI UL B A T e A i e e B e
-12 10 8 "6 4 2 0 2 4 6 8 10 12
D) @

2 -0 8 6 4 -2 0 2 4 6 B 10 12

107) [x+4| =0 107)

12 .10 8 -6 4 2 0 2 4 6 8 10 12
A (-4,4)

A2 .10 8 -6 4 2 0 2 4 6 8 10 12
C) (-4, =)

AL 3 1 3 1 4 3
% 7 1 F ¥ ¥ ¥ ¥

Fd
2 .10 8 6 3 2 0 2 4 6 8 10 12
D) (-=, =)

13



